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#Hh X & #HEH B = = | #AK AO
® L 167 163 156 319 + 2
5l— & = 566 553 533 1,086 + 2
X 4~ 1 240 231 262 493 + 3
I m 7 163 186 174 360 — 3
N 1,136 1,133 1,125 2,258  + 4
% M 156 159 157 316 — 2
t m # 89 101 117 218 — 1
B 126 130 148 278| + 1
= |F s 94 103 97 200 — 1
= X 87 98 104 202 0
5 1R 58 67 72 139 0
<7 % 199 168 177 345 + 1
BES1TH 121 164 172 336 + 3
BES2TH 1 1 1 2 0
#EL3TH 83 113 132 245 2
N 1,014 1,104 1,177 2,281 1
e = 52 52 56 108 0
ah | 26 25 32 57 2
T A K 71 85 80 165 1
gl A ow 29 25 36 61 1
& B 41 31 42 73 1
SBIR1TE 241 309 311 620 5
5 [S¢PR2TE 209 306 303 609 2
S(BIR3TH 226 296 286 582 3
SOIRAT B 269 314 341 655 2
S<H /@ 186 335 302 637 0
N 1,350 1,778 1,789 3567 — 5
o 293 353 362 715 0
B = 21 19 24 43| — 4
w|F £ & 63 70 79 149 + 1
i L 322 382 388 770  + 8
A 465 489 548 1,037 -— 8
N 1,164 1,313 1,401 2,714 — 3
XE1TH 403 448 495 943 0
XE2TH 529 596 686 1,282 0
NMx=3TH 345 401 418 819 0
=|XE4TH 580 653 697 1,350 3
XE5TH 122 132 131 263 5
N 1,979 2,230 2,427 4,657 2
: 6,643 7,558 7919 15477 7

B Bt 1 + 24 — 3 — 4 — 7




